
Name:______________________________      Date:__________________ 

WAL: To work out the cost of an item from the change given. 

If I give a shopkeeper  and receive change I can work out the item 

cost me 8 pence. 

10p – 2p = 8p 

 at the coin given, and the change back… work out the cost of each item. 

Item Coin given Change Cost 

  
4p 

 

  
8p 

 

  
10p 

 

  
15p 

 

  
4p 

 

  
16p 

 

  
28p 

 

  
10p 

 

  
5p 

 

  
3p 

 

 



Name:____ANSWER KEY                 Date:__________________ 

WAL: To work out the cost of an item from the change given. 

If I give a shopkeeper  and receive change I can work out the item 

cost me 8 pence. 

10p – 2p = 8p 

 at the coin given, and the change back… work out the cost of each item. 

Item Coin given Change Cost 

  
4p 6p 

  
8p 2p 

  
10p 10p 

  
15p 5p 

  
4p 16p 

  
16p 4p 

  
28p 22p 

  
10p 40p 

  
5p 45p 

  
3p 97p 

 


